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Pythagorean Theorem
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https://www.bing.com/videos/search?q=pythagorean+theorem+video&&view=detail&mid=4A4CAD23DF31372B2C264A4CAD23DF31372B2C26&FORM=VRDGAR
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Pythagorean Theorem

- Right Angle Triangle has one angle that 9¢° s\ﬂ,&)

- the side directly across to the right angle is always the longest side, it is
the hypotenuse.

We use "c" for the hypotenuse

- Legs are side "a" and "b" b /‘

Pythagorean Theorem Equation:
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Pythagorean Theorem Equation:
SR de \e.t\cy\-'\ﬂ& Siedy

Then to find the length of the HYPOTENUSE

c=N@rFor -

15 cm

Then to find the length of a LEG

a=+cy- ()

12 cm

11 cm
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Example)
Find the area of the indicated square:
G’.g an Ares
a b)
) ca.
u Area
Area 90 cm’
4 F ?2cm? tl
v L7
Area
26 cm?
by
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Examples: Find the length of the missing side.
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Examples: Find the length of the missing side. c?= a: *Y
c 9: ca‘ a?. N ba._ odo._ 0:'
3a) o 10 em b’e&&“\\- (m)
? b - 00w = Yew
| &cm v: Bocm-
S€= “?J‘ocm"
b= bem
11 cm
«
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Find the length of the diagonal of the rectangle. ADD TO
o o YOUR
S~ NOTES
12 cm

d'\o.SoM\S are hypoknuses
(‘, - G+ b

c, (\zu) 5 Gem)
. = |fYem* + 295cm®
Q = JeRem?

(G- ten
C = 13ewm
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Class/Homework

Page 34
#3(a,b)

#4(a,b)

—
—



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9

